Class: IX
SESSION : 2022-2023
SUBJECT: Mathematics
SAMPLE QUESTION PAPER -1
with SOLUTION

Time Allowed: 3 hours Maximum Marks: 80
General Instructions:

. This Question Paper has 5 Sections A-E.

. Section A has 20 MCQs carrying 1 mark each.

. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying 05 marks each.

. Section E has 3 case based integrated units of assessment (04 marks each) with

subparts of the values of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2
Qs of 3 marks and 2 Questions of 2 marks has been provided. An internal choice
has been provided in the 2marks questions of Section E.

8. Draw neat figures wherever required. Take m =22/7 wherever required if not

stated.
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Section A

1. The area of an equilateral triangle of side a is 44/3 cm?. Its height is given by 1]

a) % cm b) 24/3 cm
¢) 1+ cm d) v/3 cm

2. Ifa<0andb> 0 then the point (a, b) lies in quadrant 1]
a) I11 b) none of these
c) IV d) 11

3. Inahistogram the class intervals or the groups are taken along [1]
a) X-axis b) Y-axis
¢) both of X-axis and Y-axis d) in between X and Y axis

4.  Inthe given figure, AB || CD and O is the centre of the circle. If ZADC = 25°, [1]
then the measure of ZAEB is

A
\V/

E

a) 40° b) 60°




10.

11

12.

c) 25° d) 80°
If APQR = AEFD,then ED =
a) QR b) PQ
c) PR d) None of these
If (16)2X73 = (6413, then 42%2 =
a) 64 b) 256
c) 512 d) 32
Ifz + 1 is a factor of the polynomial 222 + kx + 1, then the value of ‘k’ is
a)2 b) -3
c)-2 d)3

If 0 <y < x, which statement must be true?

a) Ty = VT /Y b) vV +Va =2z

)2y =YWz DVE -~ I=VE—Y
Which of the following is a linear equation in two variables?

a)2x—5y=0 b)x+5=8

¢)x?= 5x + 3 d)5x = y2+ 3

Which of the following is rational:
2) /3 b) 4

c) 2 dm

In each of the questions one question is followed by two statements I and I1.

Choose the correct option.
Is quadrilateral ABCD a parallelogram?

I. Diagonals AC and BD bisect each other.
II. Diagonals AC and BD are equal.

a) If the question can be answered  b) If the question can be answered

by both the statements together by one of the given statements
but not by any one of the two alone and not by the other

¢) If the question cannot be d) If the question can be answered
answered by using both the by either statement alone

statements together.

In figure, AB and CD are parallel to each other. The value of x is:

(1]

(1]

1]

1]

(1]

1]

1]

1]




13.

14.

I5.

16.

17.

18.

19.

a) 120° b) 100°
c) 140° d) 90°
For the equation 5x — 7y = 35, if y = 5, then the value of ‘x’ is [1]
a) 12 b)-12
c)-14 d) 14

If a chord of a circle is equal to its radius, then the angle subtended by this chord [1]
in major segment is

a) 30 b) g¢0
©) 450 4 600
Choose the rational number which does not lie between —2 and — + 1]
a) — % b) —%
c) -1 d) 3

4 10

If a linear equation has solutions (1, 2), (-1, -16) and (0, -7), then it is of the form [1]
a)y=9x-7 b)9x-y+7=0
C)x-9y=7 d)yx=9y-7

The name of each part of the plane formed by the two lines in the Cartesian plane [1]
is

a) X-axis b) origin
c) quadrant d) y-axis

Assertion (A): ABCD is a square. AC and BD intersect at O. The measure of 1]

ZAOB =90°.
Reason (R): Diagonals of a square bisect each other at right angles.

a) Both A and R are true and R is b) Both A and R are true but R is

the correct explanation of A. not the correct explanation of
A.
c¢) A is true but R is false. d) A is false but R is true.

Which of the following is a polynomial. [1]




20.

21,
22,

23.

24,

23.

26.

)x-1+2 b) V& +3
o)l +s d) -4

Assertion (A): 0.271 is a terminating decimal and we can express this number as [1]

I which is of the form 4> Where p and q are integers and q # 0.

Reason (R): A terminating or non-terminating decimal expansion can be
expressed as rational number.

a) Both A and R are true and R is b) Both A and R are true but R is

the correct explanation of A. not the correct explanation of
A.
c) A is true but R is false. d) A is false but R is true.

Section B
Does Euclid's fifth postulate imply the existence of parallel lines ? Explain. 2]
How would you rewrite Euclid's fifth postulate so that it would be easier to 12]
understand?
Name the quadrants in which the following points lie : [2]
(i) p(4, 4)
(i) Q(-4. 4)
(1i1) R(-4, —4)
(iv) S(4, 4)
Show that: (mazf ) " ( #:Cz )b+c (—mg::z ) P 22(@*+b"+c?) 2]

b s T
OR

1

5432 °

How many metres of cloth, 2.5 m wide, will be required to make a conical tent 12]
whose base radius 1s 7 m and height 24 m?

Rationalise the denominator of:

OR

A 5m wide cloth is used to make a conical tent of base diameter 14 m and height 24
m. Find the cost of cloth used at the rate of T 25 per metre.

Section C
Draw a histogram to represent the following grouped frequency distribution: [3]
Ages (in years) Number of teacher
20 - 24 10
25-29 28
30-34 32
35-39 48




40 - 44 50
45 - 49 35
50 - 54 12

27.  Through A, B and C, lines RQ, PR and QP have been drawn, respectively parallel [3]
to sides BC, CA and AB of a AABC as shown in Fig., Show that BC = %QR
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28.  Simplify3+/250 + 74/16 — 44/54 13]
29. The following table gives the marks scored by 100 students in an entrance [3]
examination.
Mark: 0-10 |10-20 {20-30 [30-40 |40-50 |[50-60 [60-70 |70-80
No. of
Students 4 10 16 22 20 18 8 2
(Frequency):

Represent this data in the form of a histogram.

OR
The population of Delhi State in different census years is as given below:
Census year 1961 1971 1981 1991 2001
Population in
Laktis 30 55 70 110 150

Represent the above information with the help of a bar graph.

30. Find at least 3 solutions for the following linear equation in two variables: 5x +  [3]
3y=4.

31.  Check whether the polynomial q(t) = 43 +42 -t-1isa multiple of 2t + 1 or 131
not.

Section D

32. A hemispherical dome of a building needs to be painted. If the circumference of  [5]
the base of the dome is 17.6 m, find the cost of painting it, given the cost of

painting is X 5 per 100 cm?.
33. Inthe given figure, AB || CD. Prove that p + q - r = 180. [5]




OR

In fig two straight lines PQ and RS intersect each other at O, if ZPOT = 75° Find the
values of a, band ¢

-

34, If (x3 + ax2 + bx + 6) has (x - 2) as a factor and leaves a remainder 3 when 5]
divided by (x - 3), find the values of a and b.

35. Find the area of the triangle whose sides are 42 cm, 34 cm and 20 cm in length.  [5]
Hence, find the height corresponding to the longest side.

OR
One side of a right triangle measures 126 m and the difference in lengths of its

hypotenuse and other side 1s 42 cm. Find the measures of its two unknown sides and
calculate its area. Verify the result using Heron's Formula.

Section E
36. Read the text carefully and answer the questions: (4]

In the middle of the city, there was a park ABCD in the form of a parallelogram
form so that AB = CD, AB||CD and AD =BC, AD || BC.

Municipality converted this park into a rectangular form by adding land in the
form of AAPD and A BCQ. Both the triangular shape of land were covered by

planting flower plants.
-

(i)  Show that AAPD and ABQC are congruent.
(if)  PD is equal to which side?

OR
What is the value of /m?

(iii) Show that AABC and ACDA are congruent.




37.

38.

Read the text carefully and answer the questions:

Mr. Vivekananda purchased a plot QRUT to build his house. He leaves space of
two congruent semicircles for gardening and a rectangular area of breadth 3 cm
for car parking.

73 cm—;—i!? cm ——Q

[ | C T

27 cm 27 cm

j DA

L I
v S6—2Vm—s3

=5

(1)  Find the total area of Garden.
(i)  Find the area of rectangle left for car parking.

OR
Find the area of a semi-circle.

(iii) Find the radius of semi-circle.

Read the text carefully and answer the questions:

Peter, Kevin James, Reeta and Veena were students of Class 9th B at Govt Sr Sec
School, Sector 5, Gurgaon.

Once the teacher told Peter to think a number x and to Kevin to think another
number y so that the difference of the numbers is 10 (x > y).

Now the teacher asked James to add double of Peter's number and that three
times of Kevin's number, the total was found 120.

Reeta just entered in the class, she did not know any number.

The teacher said Reeta to form the 1st equation with two variables x and y.

Now Veena just entered the class so the teacher told her to form 2nd equation
with two variables x and y.

Now teacher Told Reeta to find the values of x and y. Peter and kelvin were told

to verify the numbers x and y.

(i)  What are the equation formed by Reeta and Veena?
(i)  What was the equation formed by Veena?
(iii) Which number did Peter think?

OR
Which number did Kelvin think?

[4]

[4]




SOLUTION

Section A
1. (b) 24/3 cm
Explanation: Area of equilateral triangle = @(Side)2

= Y3 (Side)” = 4v/3

— (Side)? =42
= Side =4 cm
Area of triangle = % x Base x Height
= 44/3 =3 x 4 x Height
= Height = 2v/3 cm
2.(d) 11
Explanation: Since,a<0 = ais-veandb >0 = b is +ve.
Recall that (+, +) lies in I quadrant, (-, +) lies in II quadrant (-, -) lies in III quadrant and
(+, -) lies in IV quadrant.
Hence, (a, b) lies in II quadrant.
3. (a) X-axis
Explanation: Histogram states that a two dimensional frequency density diagram is
called as a histogram. The histograms are diagrams which represent the class interval
and the frequency in the form of a rectangle. There will be as many adjoining rectangles

as there are class intervals.
4. (a) 40°

Explanation: ¢

Here, AB || CD and ZADC = 25°,
So, ZDAB = 25°, ( opposite interior angles are equal)
Now, ZADC = 25°, so, ZAOC = 50° ( Angle subtended by arc AC at centre is twice
the angle subtended at circumference)
Similarly, ZDAB = 25° , So, ZDOB = 50°( Angle subtended by arc BD at centre is
twice the angle subtended at circumference)
ZAOB + ZDOB + ZAOC = 180° (All lie in straight line)
ZAOB =180 - 50 - 50 =80°
Now, ZAEB = 40° ( Angle subtended by arc AB at centre is twice the angle subtended
at circumference)

5.(c) PR
Explanation: Since, by corresponding part of congruent triangle ED of AEFD is equal
to the PR of APQR.

6. (b) 256

Explanation: (16
= (24)2X+3 - (26)X+3

)2X+3 = (64)X+3




10.

!

12

= 28X+12 =y 26X+18

Comparing, we get

8x +12=06x +18

= 8x-6x=18-12

= 2Xx=6

=x=14

= x=3

Now 42X-2 - 42 X (3)-2 — 46-2 = 44

=4 x4 x4x4=256

.(d)3

Explanation: If z + 1 is a factor of p(x) = 222 + kz + 1, then
p(-1)=0

=222 +kz+1=0

=21+ R(-1)41=0

=2—-k+1=0
= k=13
(@) /TY = /T /Yy

Explanation: 0 <y <x

Only \/Z7 = /T \/y is true

as we know that

a® x b™ =(a x b)yM

.(@)2x—-5y=0

Explanation: In linear equation power of variable x and y should be 1 and here, the
given linear equation has two variable x and y.

(©) 4

Explanation: Since 0 is rational number it is in the form of % , and where q # 0 as %

(b) If the question can be answered by one of the given statements alone and not by the
other

Explanation: Here, as we know that if the diagonals of a quadrilateral bisects each
other, then it is a parallelogram.

But as per II, if the diagonals of a quadrilateral are equal, then it is not necessarily a
parallelogram which is not true. Thus, II does not give the answer.

So the question can be answered by the one of the given statement alone and not by the
other.

(b) 100°

Explanation:

i 5

let us draw a line from point E parallel to line AB , CD
X=21+/22

AB || EF

Z1+120°=180° (co - interior angle)
Z1=180°-120°
Z1=60°




13.

14.

I5.

16.

CD || EF
Z2 +140° = 180° (co - interior angle)
/2 =180° - 140°

/1 =40°
X=/Z1+24£2
X =60° +40°
(d) 14
Explanation: For the equation 5x — 7y =35, ify =5,
5z — Ty =35
y=>5
S5z —7.5=35
5z —35=35
bz =235+35
S5 =T0
B = L =14
5
z=14
(a) 30°

Explanation: Since the chord is equal to the radius therefore, it will form an
equilateral triangle inside the circle with the third vertex being the centre of the circle.
So the chord will make an angle of 60° at the centre. As the angle made by the chord at
any other point of the circumference would be half.

So, we have that angle made at the major segment would be 30°.

d 3

e 3 2 3 1
Explanation: Smceﬁ = g andm> —~2
(a)y=9x-7

Explanation: Since all the given co- ordinate (1, 2), (-1, -16) and (0, -7) satisfy the
given liney=9x -7
For point (1, 2)

y=9x-7
2=9(1)-7
2=9-7
2=2

Hence (2, 1) is a solution.
For point (-1, -16)

y=9x-7
-16=9(-1)-7
-16=-9-7
-16 =-16

Hence (-1, -16) is a solution.
For point (0,-7)

y=9x-7
-7=9(0) -7
-7=-7

Hence (0, -7) is a solution.




17.

18.

19.

20.

vA

22,

(¢) quadrant
Explanation: In the Cartesian plane, there are two Axis one is X axis and other is y axis.

when the both Axis cut one another it forms four quadrant( quadrant 1,2,3and 4)

(a) Both A and R are true and R is the correct explanation of A.

Explanation:

Since, diagonals of a square bisect each other at right angles.

ZAOB = 90°
A

D

H°

i 5
(d) -4

Explanation: -4 is a constant polynomial of degree zero.
(c) A is true but R is false.

Explanation: A is true but R is false.

Section B

Yes, According to Euclid's 5th postulate when n line falls on 1 and m if Z1 + /3 < 180°
and Z2 + Z4 > 180° then producing the 1 and m further will meet in the side of Z1 and
/3 which is less than 180°.

Which gave the clue about the condition that 21 + Z2 = 180° and the line | and m will
not meet at any point.

™~
< EIE| }f
< AL >m
N

We need to rewrite Euclid’s fifth postulate so that it is easier to understand.

We know that Euclid’s fifth postulate states that “No intersection of lines will take place
when the sum of the measures of the interior angles on the same side of the falling line is
exactly 180°"

We know that Playfair’s axiom states that “For every line 1 and for every point P not
lying on 1, there exists a unique line m passing through P and parallel to 1”.

The above mentioned Playfair’s axiom is easier to understand in comparison to the
Euclid’s fifth postulate. Let us consider a line 1 that passes through a point p and another
line m. Let these lines be at a same plane.

Let us consider the perpendicular CD on | and FE on m.

B

ot m

—_——_—— = = = = = = )t e e, | - |




23.

24,

25.

26.

From the above figure, we can conclude that CD = EF.

Therefore, we can conclude that the perpendicular distance between lines m and 1 will be
constant throughout, and the lines m and 1 will never meet each other or in other words,
we can say that the lines m and | are equidistant from each other.

()1
(ii) 11
(iif) TIT
(iv) IV
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7
We have radius of the conical tent, r =7 m

Height of the conical tent, h =24 m

Now, | = V72 +h? =1/49+576 =1/625 =25 m

Curved surface area of the cone = 7rl = % # T 25=5b0

Width of the cloth=2.5m
area of the cloth 550 220 m

Therefore, Length of the cloth = ——— e B

OR
Given: Radius of base (») and height (4) of the conical tank are 7 m and 24 m
= Slant height (1) = 12 + h?
=Vr2 +h? =+/7° +24°

=a/625 = 2511
CS.A =mrl

= 2 % 7 x 25 =550m’
Let x m of cloth is required
CSA of tent = area of cloth.

or, 5x =550 or, z = % =110m

.. 110 m of cloth is required.
Cost of cloth = 25 x 110 = Rs.2750
Section C
The given table is in inclusive form. So, we first convert it into an exclusive form, as
given below.




28.

Ages (in years) Number of teachers
19.5-24.5 10
24.5-29.5 28
29.5-34.5 32
34.5-39.5 48
39.5-44.5 50
44.5 -49.5 35
49.5 - 54.5 12
A histogram for this table is shown in the figure given below:
T -T?-TSG
2
ire i
...._C; 198245 " 285 445 39 i5 | ;
--.Aées.(in i\ears}—:—r : |
% N # ;
LAY
.NHL
\\/.r
P
Given,
PQJ|AB, PR||AC and RQ|BC.
In quadrilateral BCAR,

BR||CA and BC|RA

.. BCAR is a parallelogram
~BC=AR...(1)

Now, in quadrilateral BCQA,
BC||AQ and ABJ|QC
..BCQA is a parallelogram
SBC=AQ ...(i1)

Adding Eqn. (1) and (i1), we get
2BC=AR + AQ

2BC=RQ

BC=2

Hence proved.

3v/250 + 7+/16 — 4+/54

SVEXDEXEX2 +TV2x2x2x2 —4Y3x3x3Ix2

3X5V2+T7%x2v2—4x 372




1532 + 142 — 122
(15+14 —12)+/2
= 1732
29. Taking class-intervals as bases and the corresponding frequencies as heights, we
construct rectangles to obtain the histogram of the given frequency distribution as shown
in Figure.
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Number of students

7

OR
the population of Delhi State in different census years
160 150
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30.5x +3y=4
= 3y=4-5x
= y = 4—'35$
put x =0, theny—i(n) —T‘l
Putx=1,theny = —— —x 5{1) ——%
Putx =2, then y = = 5(2’ -2
4— 5(3) —11

Putx =3, theny = 5 =3

% (0,%), (1, _31) (2, -2), and ( ) are the solutions of the equation 5x + 3y = 4.

31. Given polynomial is q(t) = 43 + 42 t- 1
Letg(t)=2t+1
For the zero of g(t) put g(t) =0
S2t+1=0=t=-1/2
1

On putting t = — in q(t), we get

3 2
() -4(3) +4(3)' - (3)
=4(3)+4)+3
= ;+1+%-1—0
Att—— , We getq(——) =0

i.e. the remalnder obtained on dividing q(t) by g(t) is 0.
Hence, (2t +1) is a factor of q(t), i.e. q(t) is a multiple of (2t + 1).




Section D
32. Since only the rounded surface of the dome is to be painted, we would need to find the
curved surface area of the hemisphere to know the extent of painting that needs to be
done. Now, circumference of the dome = 17.6 m. Therefore, 17.6 = 27r
2 X 2721' =17.6 m

So, the radius of the dome = 17.6 X 5> m=2.8 m
2

The curved surface area of the dome = 27r
=2 x 2 x 2.8 x 2.8 m?

= 49.28 m?
Now, the cost of painting 100 cm? is Rs. 5.

So, the cost of painting 1 m2 = Rs. 500
Therefore, the cost of painting the whole dome
=Rs. 500 x 49.28

= Rs. 24640

A E [E]

33. ¢ A

o G I
Draw PFQ || AB || CD
Now, PFQ || AB and EF is the transversal.
Then,
LAEF + /EFP =180° ...(1)

[Angles on the same side of a transversal line are supplementary]
Also, PFQ || CD.
LPFG = /ZFGD =r° [Alternate Angles]
and /EFP=/EFG— /PFG=q°—r°
putting the value of ZEFP in equation (1)
we get,
p®+q°r°=180° [LAEF =p°]

OR
PQ intersect RS at O
.. ZQOS = ZPOR [vert’ically opposite angles]
a=4b..(1)
Also,

a+b+75°=180°[."POQ is a straight lines]
c.a+b=180°-75°
=105°

Using, (1)

4b+b=105°

5b=105°

Or

b==2 =2I°

Now a=4b

a=4 x 21°

a=84°

Again,ZQOR and ZQOS




34.

35.

cS.a+2c=180°
Using, (2) 84° + 2¢ = 180°

2¢ = 180° - 84°
2¢=96°

c= 9760 =48°
Hence,

a=284° b=21°and c =48°

Let: f(x) = X3 + ax2 + bx + 6
f(x) 1s divisible by x — 2
Then f(2) =0

PB+ax22+bx2+6=0
8+4a+2b+6=0

4a+2b=-14

2a+b=-7..(1)

If f(x) is divided by x - 3 remainder is 3
= H3)=3

P +ax32+bx3+6=3

9a + 3b=-30

3a+b=-10 ...(i1)

Subtracting (1) from (i1)

-a=3anda=-3
Puta=-3 ineq (i)
2x-3+b=-7
-6 +b=-7
b=-7+6

b=-1

Let:

a=42cm,b=34cmandc=20cm
at+bte 42434420 — 48cm

SE=ETH T =T

By Heron's formula, we have:

Area of triangle = {/s(s —a)(s —b)(s — )
= ,/48(48 — 42)(48 — 34)(48 — 20)
=+4/48 x 6 x 14 x 28
=4MX2%X6X6XTX2XT x4
=4Xx2x6xT7

Area of triangle = 336 cm?

We know that the longest side is 42 cm.
Thus, we can find out the height of the triangle corresponding to 42 cm.
We have:

Area of triangle = 336 cm?
= %x Base x Height =336
= 5 (42)(height) =336

336x2 _
42

= Height = 16 cm

OR




36.

Let ABC be the right triangle right angles at C.
A

b
C 126 m B
a=126m...(1)
In right triangle ACB.
AB2=AC?+BC? .. .[By Pythagoras theorem]
= c2=a2+p?

=c=vaZ+b2...(2)
=c-b=42...3)

= Va2 +b2-b=42 .. [From (2)]

= /1262 +b2 -b=42 .. [From (1)]
= 1/126% + b2 = (42+b)

— (126)% + b2 = (42 + b)?

— 15876 + b2 = 1764 + b2 + 84b
—. 84b = 15876 — 1764
— 84b=14112

= b= 10
=b=168m...4)

From (3) and (4)

c—168=42

s.c=168+42=210m...(5)

.. Area of the right triangle = % x base x height

=1 x 126 x 168

= 10584 m?
Using Heron's Formula
a=126m,b=168m,c=210m

_ a+b+c

.". Area of the right triangle
=/s(s—a)(s—b)(s—c)

= ,/252(252 — 126)(252 — 168)(252 — 210)
= 1/252(126)(84)(42)

=,/ (63 x 4)(63 x 2)(42 x 2)(42)

=63 x 2 X 2 X 42 = 10584 m?

Section E
Read the text carefully and answer the questions:
In the middle of the city, there was a park ABCD in the form of a parallelogram form so
that AB = CD, AB||CD and AD = BC, AD || BC.
Municipality converted this park into a rectangular form by adding land in the form of
AAPD and A BCQ. Both the triangular shape of land were covered by planting flower




A B Q

(i) In AAPD and ABQC
AD = BC (given)
AP = CQ (opposite sides of rectangle)

ZAPD = /BQC =90°
By RHS criteria AAPD =~ ACQB
(i) AAPD = ACQB
Corresponding part of congruent triangle
side PD = side BQ
OR
In AAPD

Z/APD + /PAD + ZADP = 180°
= 90° + (180° - 110°) + ZADP = 180° (angle sum property of A)
= ZADP =m = 180° - 90° - 70° = 20°

ZADP =m=20°
(iii)iln AABC and ACDA
AB = CD (given)
BC = AD (given)
AC = AC (common)
By SSS criteria AABC = ACDA

37. Read the text carefully and answer the questions:
Mr. Vivekananda purchased a plot QRUT to build his house. He leaves space of two
congruent semicircles for gardening and a rectangular area of breadth 3 cm for car
parking.
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(i) Area of Garden is =2 x semicircles
Area of a semi-circle =2 x %mz

= 2 % 6.75 x 6.75 = 144.43 cm?

(i) Area of rectangle left for car parking is area of region PSUT =27 x 3 =81 cm?

OR




Diameter of semi-circle = PV = % — % =13.5¢cm

. Radius of semi-circle = 1375 =6.75 cm

Area of a semi-circle = %’nrz

=152 4 6.75% 6.75="71.59 cm?

(iti)Diameter of semi-circle = PV = PTS = % =13.5cm

.. Radius of semi-circle = % =6.75 cm

38. Read the text carefully and answer the questions:
Peter, Kevin James, Reeta and Veena were students of Class 9th B at Govt Sr Sec
School, Sector 5, Gurgaon.
Once the teacher told Peter to think a number x and to Kevin to think another
number y so that the difference of the numbers is 10 (x > y).
Now the teacher asked James to add double of Peter's number and that three times of
Kevin's number, the total was found 120.
Reeta just entered in the class, she did not know any number.
The teacher said Reeta to form the 1st equation with two variables x and y.
Now Veena just entered the class so the teacher told her to form 2nd equation with two
variables x and y.
Now teacher Told Reeta to find the values of x and y. Peter and kelvin were told to

verify the numbers x and y.
- e

(1) x-y=10
2x + 3y =120
(i1) 2x + 3y =120
(iiix - y = 10 ...(1)
2x + 3y =120...(2)
Multiply equation (1) by 3 and to equation (2)
3x -3y +2x +3y=30+120
= 5x =150
= x=30
Hence the number thought by Prateek is 30.
OR
We know that x - y =10 ...(1) and 2x + 3y = 120 ...(i1)
Put x = 30 in equation (1)
30-y=10
=y=40
Hence number thought by Kevin = 40




